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GCSE Mathematics (Linear) 1380
Formulae: Foundation Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

—a—*

Area of trapezium = - (a + b)

Volume of prism = area of cross section x length
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Answer ALL TWENTY FIVE questions.
Write your answers in the spaces provided.
You must write down all stages in your working.
1. (a) Write the number 5076 in words.
iy housand and Soventuy Si%

(1)

(b) Write the number twelve thousand, five hundred and seven in figures.

19 S oF

1)

(c) Write the number 72 879 to the nearest thousand.

+3 000

(1)

(d) Write down the value of the 7 in the number 5709

Flol®.
1 Q1
(Total 4 marks) |
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2. (a) Measure the length of the line XY.
X ¥
8 : 3* SV
(2)
(b) What type of angle is angle p?
QBEASZT e
1)
(c) Measure the size of angle p.
...... s >
m Q2
|
(Total 4 marks) |
3. Complete this table.
Write a sensible unit for each measurement.
Metric Imperial
The weight of a bicycle Kal’){)rmg pounds
The volume of water in a ' ints
watering can Liboes i
The length of this page centimetres WIChe S Q3

Lots more free papers and model answers at www.bland.in

4 0




Leave
4. Tom wrote down the colour of all the cars going past his house in 10 minutes. e
Here are his results.
red blue grey red grey
white white red blue white
red red grey grey red
blue blue red white blue
(a) Complete the frequency table for his results.
Colour Tally Frequency
red N +
blue TN =
white 1] =
grey N “
(2)
(b) On the grid, draw a bar chart to show this information.
o .
[y 7//_ e e
F o I I
requency . 7 B ?_ i -
: ? % 7
red blue white grey
Colour
2)
(c) Which colour is the mode?
gl
1) Q4
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5. (a) Simon throws a fair coin.
On the probability scale, mark with a cross (x), the probability that the coin will land |
on tails. i
N
I N 1
0 1 1
2
1)
(b) Suresh throws an ordinary 6-sided dice.
On the probability scale, mark with a cross (X), the probability that she will throw a 7
W
N~ I 1
0 1 1 i
) [
1)
|
(c) There are three yellow sweets and one blue sweet in a bag.
Gulam takes at random a sweet from the bag.
On the probability scale, mark with a cross (x), the probability that he will take a blue
sweet. ,
¥ 4 E
| 7 T 1
0 & 1
2 |
M s
(Total 3 marks) ‘
6. Nathan thinks of a number.
He doubles the number.
He adds 5
His answer is 17
What number does Nathan think of?
9% +« & = 1
—_:) D = { + - 5 - 3 - 6
) o
é) Q6 [
..................................... = |
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7. Here 1s a coordinate grid.
Ya
S P
— —% 3t X
= -
6 4 4 3 =2 40 I 2 3 4 3 o
. |
R o |
g o
4L ~ |
(a) Write down the coordinates of the point
@ P
A3
(i) R
H A
(2)
PORS is a parallelogram.
(b) On the grid, mark with a cross (x) the fourth corner, S, of the parallelogram.
@ Q7
(Total 4 marks) |
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8. Here are five shapes.
A B
C D E
Two of these shapes have only one line of symmetry.
(a) Write down the letter of each of these two shapes.
............ 'q and C‘
(2)
Two of these shapes have rotational symmetry of order 2
(b) Write down the letter of each of these two shapes.
3 J3
........................... AN sovis o momsmuass
2) Q8
(Total 4 marks) |
9. Sherri says
“If you multiply an odd number by 7 and take away 2 you always get a prime number”.
Show that Sherri is wrong.
N Pt 2SRl | repriSen t the n umber Lye. abtaln vwhen
o coulbiphy an ol no. 3¢ by T and then baRe Aviaw D,
L Sherrbis corceck  thon ?..‘.’.?é..’...%....a‘r?‘rf.'{%...F.’.::f...f.’.‘..‘..‘.?.‘.‘.'....‘...“’.‘f’_..‘\"
»)dd ~ambersg x %u{ NL\ Ay X 3 ?3_ L% ;tg) 1= Q9

and 33 15 ok prime sinee it Hc“‘ [Fackocs (Total 2 marks)

E /)\:\G{ it %ir\e_,f‘r:_ LS (NG} ;'0:\9 )
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10. (a) Simplify a+a+a+ta e
......... s S
1)
(b) Simplify 3a+5b—a+2b
A T
(2)
(c) Solve Ix=12
o 3R o Fi - T
0, = 'j, - 4t XS misam s (1)
(d) Solve y—7=5
= + = 9\ = I‘Q‘ ...................
== = | ’ M
(e) Solve 2t+8=3
3~ g R R S i .
R = 3";1% - 3—";’21 e =08 ! @) 010
(Total 7 marks)
11. Here are the first seven terms in a number sequence.
3 6 5 8 7 10 9
(a) Write down the next two terms in this number sequence.
I 2 i)
..................................................... (2 )
Here are the first five terms in a different number sequence.
5 9 13 17 21
(b) Find the 10th term in this number sequence.
21 + $(4) = 2t+20 = «| . SR
(2
(c) Write an expression, in terms of #, for the nth term of this number sequence.
I 2 3 o *
s 9 g 3 B2 _ AR
\!: \L:— :, é iy H I il sssssaeeesveasai (2) Q_ll
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12. Mel buys

2 pens costing 55p each
4 pencils costing 28p each
a calculator costing £4.95

Mel pays with a £10 note.

Work out how much change she should get.

0 = 2o55) - (025 ) - 8
 Jm L] - . e =l e
={2.23

S N Q12
(Total 4 marks) T
13. P=2/+2w
(a) Work out the value of P when /=6 and w =4
P= 26)+ 2(«)
= 12+ %= 20
P= A,
2)
(b) Work out the value of / when P =24 and w =3
(fP=20+ 2w, thew = P- 2w
1
= l=24-2(3) . w-¢ 18 .9
2 = . Fmod .
(2 Q13
Lots more free papers and model answers at www.bland.in )
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14. The map shows the temperatures in some cities one night last winter.

Aberdeen —9°C

Dublin —5°C

London 7°C
Cardiff 4°C

Exeter 6°C

(a) Write down the name of the city with the highest temperature.

London
................................. (1)
(b) Write down the name of the city with the lowest temperature.
Nberdeon
1)
(c) Work out the difference in temperature between Cardiff and Exeter.
& =L*%) = 48 = 0% (O o
............................... b
(d) Two cities have a difference in temperature of 4°C.
Write down the names of these cities.
T}m[a tr Dublia — temp 1A Abredewan
= s -(-9) = -S+9= B Dublin 4 Peerdecn
1)

(Total 4 marks)

Leave
blank

Q14
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15. A rugby team played six games.
Here is the number of points they scored in each game.
24 8 18 6 12 19
(a) Work out the median score for these six games.
tedion OF an, wLven =S 22el sk = Sum ’3(‘\ the two 'ﬂ{‘dd[‘!“ di R
7
¢ = (D @® 11 24
. | 5
. M )“ - = 'Q_ ,ix' ~ 30‘_ D R PP
T S e S S 0D @)
(b) Work out the mean score for these six games.
tAeen S2ore = 61T € H12 +1% Ll s ,?_Li
G
= B 7_ = |&4. 5
G
| Lp &
2)
The rugby team played one more game.
The mean score for all seven games is 16
(c) Work out the number of points the team scored in the seventh game.
N ew mean = R+ _ 6 ohece 22 is the no.
Ea
&y F PCD bf\ti: [0 ."e,CL' L’\ tﬂ'\& Sav Gﬂ'\t‘-l’\ QC)\MQ .
= = W(F)- F = 25
Q5
.......................... points
@ [QI5
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Diagram NOT
accurately drawn
140Oj
X
(1) Work out the size of the angle marked x.
5= o = Lo+ 98 )
= 360 - 230 = (30° L%
(i1) Give a reason for your answer.
Nogles..maling ve o compske covoludon
acoucd a.paink add Co 3o . Q16
(Total 3 marks)
17. Minnie invested £250 for 3 years at 4% simple interest.
Work out the total interest Minnie gets.
s 272 ) = (352 199) = 3(10) = oo
Lots more free papers and model answers at www.bland.in £ 3 D ------------------ i
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18. Rosie and Jim are going on holiday to the USA.
Jim changes £350 into dollars ($).
The exchange rate is £1 = $1.34

(a) Work out how many dollars ($) Jim gets.

IO X -39 = AT

In the USA Rosie sees some jeans costing $67

In London the same make of jeans costs £47.50

The exchange rate is still £1 = $1.34

(b) Work out the difference between the cost of the jeans in the USA and in London.
Give your answer in pounds (£).

(F+ — -3¢ = [fSO

D (Ference bebween coils s (gl\f\-’m b\(,)

ey — T2 = } 2:§O
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o | - :A blank
4
/ ’ \
4 ) \
1
-5 4 3 -2 -1 0 1 2 3 4 5>x
-1
-2
-3
4
(a) Reflect triangle P in the y-axis.
| 2
!
/F
|
Q
(b) Draw an enlargement of shape Q scale factor 3
(2) Q19
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20. The diagram shows the position of two ports P and Q on a map.

P \

(a) Measure the bearing of Q from P.

Leave ;
blank

@
A rock R is on a bearing of 150° from Q.
On the map R is 6 cm from Q.
(b) Mark the position of R with a cross (x) and label it R.
@ Q20
(Total 3 marks) ‘
’ 2
21. (a) Use your calculator to work out Aok .30
39-1.7
Write down all the figures on your calculator display.
You must give your answer as a decimal.
-2 F39%936
3
(b) Write your answer to part (a) correct to 2 decimal places.

Lots more free papers and model answers at www.bland.in
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22. The equation x* +3x =41
has a solution between 3 and 4
Use a trial and improvement method to find this solution.
Give your answer correct to one decimal place.
You must show all your working.
2 X%,_ + 39¢
3§ £33 7% Wt
Ty t2- 3K = o |
3 @ TR el
oy wo FoSETIS <L g
= RS LWl L
Sinte xis close~ to 3.2 Chen Lo 3.,
~ = 3.9 k/_,:'}fr‘i,c..(: leo 1d- p- 3
x= 3':)‘ ................. Q22
(Total 4 marks) }
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23.
Diagram NOT
p accurately drawn
16 cm
8 cm
B
o R
POR is a right-angled triangle.
PO =16 cm.
PR =8 cm.
Calculate the length of OR.
Give your answer correct to 2 decimal places.
i . : _
/D \% - * % ol L6 LPBH\J\E)O res l)\e,f)(cf.ww, )
2 B
= QR = 165—%°
Sopg o= 18 = J192 | |
| % 8 om 23

= i’s.%gcw\(’)d‘,rj_)‘ ............................... |
(Total 3 marks) |
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4. Riki has a packet of flower seeds.

The table shows each of the probabilities that a seed taken at random will grow into a
flower that is pink or red or blue or yellow.

Colour pink red blue yellow | white

Probability 0.15 0.25 0.20 0.16

(a) Work out the probability that a seed taken at random will grow into a white flower.

| — (P 1Sto 25+ 02+ 006 )

There are 300 seeds in the packet.
All of the seeds grow into flowers.

(b) Work out an estimate for the number of red flowers.

f’)(R) X 300
& -9 K o

FS

Lots more free papers and model answers at www.bland.in (2) 9_24
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25. Caleb measured the heights of 30 plants.
The table gives some information about the heights, 4 cm, of the plants.
. Heiaht ke el | /
Height (2 cm) of plants | Frequency miif(\z:c::‘. - m X i_”‘
0<h<10 2 S [ O

10 <4 < 20 8 -3 120

20 <7 < 30 9 a5 228

30<h <40 7 25 %5

40<h <50 4 < I g O

=af= Fgo0O
Work out an estimate for the mean height of a plant.
Ei‘)l—""‘"\f\ki ﬁ"‘j Mesn A ‘alf\}‘. LS ‘g a b\;‘) 2 &3 (:_J
=
= 32 - 26 cm
30O
Lots more free papers and model answers at www.bland.in ... ;1 é ,,,,,,,,,,,,, cm Q25
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